g

Read the passage carefully and answer How do pedestrians look like f:'“ the

the questions (Q. Nos. 1 to 4) choosing road 7

the correct aiternative : (A) Walking
These days our world seems to be in the (B) Jogging
anp of speed. Everyone is in a great hurry {C) Running
to reach somewhere ; God knows where (D) Gliding

and why. Out on the roads. fasl moving 3. Why have ‘superfast foods begom

popular 7

vehicles are driven faster . pedestnans also

Appear to be running instead of walking, '
; {A) People have notime to have hair
Queue or no queus hefty people push their

food peacefully at hame
way through the crowd, Imuring or hurling

women, oltl peaple or even small children, Rt ekt
Doctors, lawyers, and even shopkeepers - () Peaple dan't want 1o cock food
areinsuch a hurry that they have na time ~ (D) Peaple don't lie food coated at
to listen 1o anyone patiently Pacple have hame

no lime even to have thair foed peacefully 4,

What, according fo the author, does
atheme and so ‘'superfast’ food joints have

the new Cenlury seem to promise 7

SPrung up. No surprise then that so many (A) Alife of comfart

sufferfrom hypertension orheart diseases *(B) An era of hypertension or heart

Even nalure seems to have joined this diseasas

race. Years, months, weeks and days {C) Abrighter and happler time

seem simply ta fly away as if to lake (D) Leng and noble life

mankind faster to the new Century

: Answer th ;
promising a brighter and happier era. rifne questions (Q. Nos. 5 to 10)

: =l Uie correct alternative -
1. Whodon't care for athers while walking

through the crowd 7
(A) Small children
(B) Qldmen

(C) Youngwomen

*(D) Hefty people

OD-2C/12
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% Theword opposite in meaning to 'Bold’

IS ;

(A) Brave
(B) Daring
(C) Timid
(D) Fatal

One who cannol read and write |s .
(A Negible

(B literate

(C) Hlegal

(D) e

One should dao

sincerely

e Huly

Pick out the correct word lo complete
the senlence !

(A) his

(B her

(€) therwr

(D) one's

As snon as the siren bisw, the firemen
dashad towards thelr vehicle. This
sgnlence can be rewaritten using 'No
sooner' as:

(A) No soonef ihe siren hlew, the
firemen dashed towards Lheir

yehicle
(B) Mo =ponef the siren hlew
firemen dashed tow

vehice,

op-—2c/12

(C) Nos=ooner did the siren blow than
Ihe fireman dashed lawards their
vahicle.

(DY Nosoaner than the sjren blew the

firomen dashed vowards the

vohicle.

10 The workers are not to be hlamed for

1.

Ihe loss. The supervisaris alsonot o

ke of blamed for the 1oss Combining

lhege lwo sentencas inlo a single

sentence using 'MNeither . nor'wegel :

(A) Neither thee workers nar the
supervisar Is hiamed for the loss

(B) MNeither the workers nor the
supervisoristobe hlamed for the
loss.

(C) Meither the warkers nor lhe
sypervisor are 1o be hlamed for
Ihe loss.

() Neither the workers nar the
supervisor are blamed for lhe

loss.

The Origin of Life” book was writlen

by

(A) Charles Darwin

(8) A | Oparin

( Tumn over)

J
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13.1n I2mmsg

Warld Malaria Day is obsarved on
(A) 25" January

() 25" Marzh

(C) 25" apn

":.’1 o December

of event and year of occurence

Iﬁentufytharr:m[;pajr

(A) FoundabonolC 5|R 1942

{f’i l:l::-|r*r.1|1r'3hs.al|ur1 aof Indian
Currency notes 20 15

\&) Implementation of GST:2m7

(D) Remaval of Article 370: 2019

Name tha Unilon Minister for Scipnce
and Tershnn'*.‘.g:,rlﬁ'

.{,h,} A,swuu "l.,"aIEfIF'I-E.!'b'

(13) Nitin Gadkari
(C) Jitendra Singh
(D) Piyush Gaal

On which day the Canstityeni
Assembly commencad s
functioning 7

(A} 8" December 1945

(B} 26" January, 1947

(C) 15" August, 1547

(D) 9" Decembar, 1947

Which country is not a part of Troikg
of G-20 Summil to be held in 2023 2

(A) Brazl

OD - 2C/12

17.

18

(2) Indonesa

(C) India

(D) laly

I which of the fallowing cilies is NAAC
situaled ?

(A) New Delht

(B) Bangalore

(C) Mumbazl

(D) Kolkata

Who was associated with laying down

minimum levels of learning at

elementary stage ?

(A) Prof. R.H.Dave

(B) Prof Yashpal

(C) Prof Ved Frakash

(D) Acharya F{amamurmy

Which of the fallowing Commissions

recommendad far establishment of
UGC mn India ?

(A) Indian Universily Commissian
(1802)

(B) Calcutta University Commission
(1917}
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21.

22.

23.

oD--2012

The middie stage of education as per

N.E.P-2020 covers which age group
of students 7

(A} Ages Bto 40
(B) Ages91o 14
(C) Ages 1010 12
(D) Agss 1110 14

If the sequence of the letters in English
Alphabel is reversed, which latler
would be the 10" letter after the 5™
‘etier from right 7

(A) M

«(8) L

(C) K

(D) N

\f "CAT" and ‘BOAT are written as
'XZG" and 'YLZG' respectively in a
code language, how is 'EGG' to be
wrilten inthe same language 7
(A} VS5

(B) URR

¥C) VIT

(D) UFF

In the following queslion, one
statement is followed by lwo
arguments Find the correc! answaer
fram the given altematives ©
Statement: ‘Nudity be shown in
Indian Films",

(a) It is being shown all
over the wolld

() It will damage th
maral fibre of Indi
Saciety.

Arguments :

(A) Onlysta tamentia) is strang

24

25.

26,

48) Only atatement(b) iz strang.

() Meither argumeni{a) nar (b 1s
sireng.

(D) Both arguments(a) and (b) are

strong.

Naga is tallar than Puspa, but nat as
lall as Manu Ramais taller than Nita,
but not as 1all as Puspa, Who amaong
them is lallast 7

{A) Manu

(B) Puspa

(€) Maga

(D) Rama

Indra is 7™ tram the et and Jaya is
5" from the righl When they
interchange their positions, Jaya .
becomes 13" trom the nght Whatis
Indra’s posiion fram left 7

(4) 214

@) 18"

(c) 20

(oy za™

If'BAT is coded as 283, CAT is coded
as 383, ARE is coded as 804, then
the code for 'BETTER' is

(A) 213310

over)
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27, If seling price is doubled, the profit
nples. Fing the profit

(A) 855

percent.

(B) 100
(C) 1053
@) 120

28, I the ™ day of a monty s 3 days

Than Iday, v
on tha

earlia ‘hat day will it be
19" day of tha manth 7
1?5‘] Sunday

(B) Monday
) '-.ﬁ.'ladn-ﬁ.sda*,a
(D) Friday
28, In how BNy viays yoy can post 3
Ellers in g letter boxeg 2

(A) 88
(B) &4
(C) 81
D) 12

a0. Whalleaﬁtnumhermusi he addad g

1056 so that the sUm iz completely
divisible by 2, 3 and 87

"A) 24
(B) 18
(C) 48
(D) 56

QD-2Cn2

34, Which of

31. Development of which ofthe fallowing
ahilities in human beings s facilitatad
by brainstorming 7
(A) Posttive thinking
(B) Divergent thinking
(C) Convergent thinking
(D) Active thinking
32. An explanation involves giving
(A) Antecedents lo g subsequent
(B) Consequences to ar, antecaden;
(C) Antecedents 1o 3 consenuenca

L]
(D) Consequences toa subsequent

33. A student js Solving 2 problem in

Malhemali:a What js hal/she

contributing tg 2

\A) Affective I2arming

(B} Cognitive !eaming

(C) Canatiye l2arning

(0) Psyen Omater learning

the fnrlnwing is not a
Characterissic nf t2aching profession 7

L

Scanned by CamScanner



35 Which strateqy is best applicable for
teaching ‘sl

ill of asking nuestians to
students' ?

(A} Personalizad system of
msiruction

(B) Pranrammed instruction

(C) Simulalion

(0} l'-.‘lir:mteaching
34, Sludent-centric classroom is meant
{or:

(A) Addressing Individual diferances

(B) Engaging the students of the
entire class

(C) Helping students to recall their
previous knowledge

(D) Reducing the teacher-orinnted
lectures

37. During presentatian in a classroom, a

teacher gives a lot of posilive and
negative examples. This is related to

which laval of learning ?
(A) Reflective leve!

{B) Understanding leval
(C) Marnory leval

() Aulancmous develapment |

3B. Suppose you are teaching a tog

the dass and a student asks a quas

oD - 26112 '

L

40,

unrelated to the topic. What will you
do?

(A) You will encourage him lo ask
such guestions lo develop

learlesspness in the student

{B) Youwilldisallow him to ask such
queshons so as lo save time for
discussion on topic related

guastions

(C) You will consider It as a case of
Indiscipiine and repart it to his/ her
parents

(D) Yauwil answer tha question after
Ihe class

"Spara the rod and spoil the ehild® gives

the message that -

(A} Undesirable behaviour should be
punished

(B) The teacher is friendly to lh.e
students.

{C'j Iis an activity-centred class

(D) There is mara freedom

and
flexibility in classroom leaching.

CILET stands for -

(A} Centre for Intagrateq Education
Et‘ldTE'.‘:hFltﬂﬂf_Iy'
(B) Central Institute for En

_ gineering
ntl‘l:hnnlug

e Lcaliong)

luation

' Dvar
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41. The quantitative definition of force can

he ohtzined fraom which of the
Newton's laws of motion 7

(A) 1% law

(13) 2" jaw

(C) 3™ law

(D) Naneof the laws

42 A body of mass 5 kg moving with

velocily 2 mfs comes to rest within a
distance of § m. The work done during
the processis :

(A) 10J

(B) 154

(C) 20 erg

(D) 30 erg

dil, A ventun meter works on the principle

of

(A) Newton's law
(B) Joule's law
() Pascal's law

I.D] EE‘.‘TI‘I.EU”PEMW

44. In a dyname the Yransformation of

gnergy is:
- chan
(A) From MEechanicalty o\ cirical

() From chemicallo elgf_qrinm

(D) From giectrical 19 thiang

oD - 2Cn2

e,

45 Ohm's law is applicable to 3 -

(A) Semiconductor
(B) Superconductor
(C) Metallic Conducter

(D} Junction dicde

dl‘i, A body of mass 2 kg and eleclrical

47,

48. The velocity of sound in air at STP 1S

charge 5C is moved {hrough a
potential difference of 6 V The energy
gained by the body s :

(A} 60

(B) 30J

(C) 300 erg

(D) 600 erg

Lenz's law of electrcmagnelic
induction is consistent with the
conservation of ;

(A) Mass

(B) Charge

(€) Momentum

(D) Energy
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49 In Young's double slit experiment, f 53 Howmany o and wbonds are present

the separation cetween the slite is n CaC, ?
taubled {wathin the wavelangth range), (A] 20, nom
than e frmge widths ‘
(B8) 26, 2n
(A Unchangad
C} 2a, 2n
(B} Halwed (©
(C) Doubled S & W
(D) Naone of the ahove 54 Which of the follawing has maximum

30, \f the temperature of a biack body is M ———

doublzd. then s radiant emitlance (A !"Ig?‘
becomes ) T
(A) Same as origina) valye (&) v

r LT T -

B} Twice of the original value (0] Fa?

lﬂ'r Faur mes the original value

. 25. Which one of the fallawing oxides is
(D) Sixtezn imes the original value .

nautral ? -
21. W Mg atem having atomic re 12 has A CO
anisclopa of mass no. 26, \hen the
: (B) SnO.,

no af protan, neutren and electron :

respactively are | \C} 20

(B) 12.12.14 (0) Sio,

(8Y 12, 14,12 N

56,

(C) 14,12,12

NiH Is represented asg ﬂ>‘1~H :
[l 4 a M
I_D:I |:‘:.. IE. 12

Nitrogen attached with dauple bands

52. Iso-electronic species ara has owidation numhber -
(A CO,CN™,NO",C3 (A) 0
(B) CO™,CN,NO.C5 (8) +3
(C) CO',CO°, NO",C, (C) -2
() CO,CN, NG, C, 10} -3 i

D0 - 2CH1?2 5
. (Jum Qver )
4 o e e
M e g 1o 2

L]
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5E38

el B B . B

cHa0 + a0,

What &re the values of 5. b, e, and d

respectively ?
(A} 3.5.4,5
(B 6,58 5
(C) 3 1.4, 1
(D) 1,5,4,5

58. Reduclion of thiosulfate with indine
gives

(A) Sulfate lon

(B) Sulfitz ion
(C) TETFEH'ILGHE!!EiDI'I
(D) Sulfide o5

50 The indicator

used in lodometric
litration s -

{A) Phenclphthalein
(H) Methyl orange
(C) Starch
(D) Litmus
E0. Far the equation NOS +4H" « g

==}
EHED +NO. Theno of eleclirons inils

balancad form wauld be -
(A) 5
‘(B) 4 -
(C) 3

(D) 2

QD -2CH2

- : .
o Hn D-.1 Ta ]:|1| 4.‘-3'1.‘\01 —7 2 M Jr"I 'L‘_!'lz_n-t -

97 2ZMNOG + aH® + bH,0, — 2Mn2

10,

" B1. Which of the following (s

rEEﬂﬂnﬂlhlg

tor modifying ang pa

ckaging o
proteins and lipids 7

(A) Mitcchondria

jE}’ GGolg, Complex

(C) Endoplagmin Reticulum

() Peraxisome

62. Which of the fc:.‘l:.wing Vilamins js nat

ebtained from plants 7

(A) Thiamine
(B) Pyridoxin

{C) Cyanocabalaming

(D Rioflavin

83.In F‘Ieridap!‘uy:es developmen| of

sporophyte from gametophytic tissye

withoul nvalving gametie fusion is
known as

(A) Apospory
() Parm-:nc:arpy-
(C) Heterospary
(D) Apogamy

64. The fungus Commonly known as
Baker's Yeast js -

(A) Saccharnmyces cctosporus

(B)

Sacchammyces cerevisial

(C) Saccharomyces uduwigii

Contd
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66

69.

OD-2CN2

. Normally

The plant that commonly known as
harse 131 iy -

(A) Equsetum

() Marsilea

(C) Selaginella

(D) Ptaris

Which of the following Is not an
inexhaustible rasource 7

(A) Sunlight

(B} Wind

(C) Tidalenergy

(1) Coal

the endosperm in

angiospemmis ;
(AY Diploid
(B) Haplod
(C) Triploid

72

{1} Hexaploid

L, Which of the fallowing is an essential

fatty acid ?

(A} Palmitic Acid
(B} Linol=ic Acid
(C) Acetic Acid 3

(D) Citric Acid

The type of energy obtained fram hot
springs is )
(&) Geothermal energy

(B) Saolarenergy

71.

() Tidalenergy
(1) Hydro enerdgy

20, Which of the following ts not a viral

disaase 7

(A) Measles
(B) Hepatitis
(C) Rubeila

(D) Leprosy

Zooplanktons are |

(A) Producers

(B) Primary Consumers
{C) Secondary Consumers

(D) Decomposers

Which of the following is a n::m -
symbiotic nitragen fixing aerobic
bactena ?

(A) Clostridium

:'é-l Frankia

{C) Azotchacter

(D) Rhizobium

Minamala disease was caused in

Japan due to the parsoming of :
{ﬁ'j Arsenic
[B) Mickel

(C) Lead

(D) Mercury

{ Turmn over )
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T4, Yowmany eeth grow anty ance in the (C) Scules
\ife of a human being ? (D) Vernix
e 79 During inspiration in mammals, the
B 12 diaphragm
T (A} Expands
D) 32

{'B] Contracts

75 \Which is no\ a part of alimentary
(C) Relaxes

canal ?
(A) deiunum (0) Shows no change
(B) Wum 80. The stalement "Ealing on the same
(C) Glzzad lable" is true for ;
(D) Crop (A) Amensalism
j 76. Deficiency of which hormane causes (B) Mutualism
hira ? (C) Parasitism
| (R} Oxytoin (D) Commensalism
B8 Relaxin
1CY Renn 81, A rational number % {n+ Q) can be
(D) Vasopressin expressed as a lermirating decimal,
U T D, [ p— S ——— Y TR e if the orime faclarzation of q Is of the
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3
> 89 \What is the value of {255]”"5 ® [C) 5
TE 2560 08 4 k 1
A) 256 25
i i 93, If Sisthe set of all distingt numbers of
|| (B) 54 )
11 (C) 16 the form 1 where p, q ¢ {1, 2, 3,
IF D) 4

4, 5, G}, then what s the total number

| B ol elementsinS?
_ 90. Iftan = 3 forsome 0 (0 <0< 80%,

(A) 21
thenwhat is the value of sin 0 7 (B) 23
(A) 1 (C} 32
5
(D) 36
By 2
(B) 5 84, The angle of elevation of a ladder
;' . q learing against a wall is 60°, If the faat
i () 5 of the ladder is 4.6 m away from the
’ 4 wall, then whatis the length / height of
| O 3 the ladder 7
91. Iflogs (x* —x) —loga(x—1) = 3, then’ oy R
whatis the value of x 7 (B) 4.7m
(A) 9@ (C) 78m
(B) 6 (D) 82m
(C) 3 o
; 85. I one of the roots of the equation
(& 1 W+ px+3=0 (p = 0)is the square
62, Whatis the value of the expression . | of the other root, then what is the value
sin?(1%) + sin?(119) + sin?(21°) + ofp?

5|n2[3:‘|“} + sin?(41°%) + sin’(45°
sin”(49%) + sin®(58°) + sing
sin?(797) + sin’(B9°) ?
(A) 4

(B) 42

cH2 i
oD - 207 , .
S /ﬁ_l

o
. a0
‘ , P
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g5 What is the remainder when the

ar

83

pelynomial x*°% + 1 is divided by
x+17

(A) x* —1

(B) 2x+1

(C) 2

(D) =1

It the system of linear eguations
X +my=10and 4x + ny =80 (m, nare
positive inteqars) have Infinitely many
sclutions, then the minimum possible
vaive of (m+n)is

(A) 11

B) 9

(C) 7

(D) 5

A wire is bent io farm a square of side
22 cm. I the wire is rebent to form a

circle, then its radius will be ? (A} 4cm
. (B) 3cm
[USE = - l
2] (C) 2em.
-
(A) 22 cm. (D) 1em. \”1/
9 ) ’ >
.l.,:.‘. - - =4 : 1\
L1 ~ "F'.'._ [ 'L‘J'_i."r
LA RN RN NN NN RN Y O‘-f ' llp"':"l 'Llrm)i&
w' , ~ : >
v 4 )

63

(3} 14em
(C) 11cm
{}Eq 7em
Which one af the fallowing is an

obtuse angle 7

(A) —1 Glﬂ“jh- anglz

{EH B— of a complete ratation

11

T of a complete rotation

=

8
—— |
(D) 5 of a right angle

100 PQR is a right angled triangle right

angled 2t Qwith PO =6cm. and QR =
B cm. What is the radius of the circle
with center at O inscriped inside the
Iriangie POR 7
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